P(AUB) = P(A)+ P(B) - P(ANB)

P(ANB)

P(Bl4) = 22

P(AN B) = P(A) P(B|A)

= ZP(Ei)P(AlEi)

P(E:) P(A|E:)

(Bayes)  P(EilA) = —F—

Lleis discretes
Binomial: X ~ B(n,p)

P{X =k} = (M)pF(1—pn*

1 n!
e (’“)_k!(nfk)!
1

1 43.3.1 1 (Z) + (kil) = (21})
15 1085 1

B(n=15,p=0,3)
k| PX =k
0,16807
0,36015
0,30870
0,13230 02
002835
0,00243

1

0.3
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Lleis continues

Densitat
f(z) >0, / ' flz)de =1
o b
P{la< X <b}= f(z)dx

b

Valor esperat

w= [ : 2f(z)do

Variancia

o’ = /“ (@ — 1) f(2) da

oo

Densitat normal

_ 1 7(17;;)2
fla)= e wr
20 I 2

Estadistica descriptiva

Mitjana Variancia corregida
1 ) 1 .
z= nz.l,,, S Z(,l,‘*,l)

Recta de regressid y=a+bx
amb (a,b) tals que Z (yi —a—bx;)?
Nl

és minim
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